
2024-10-30 - rev 11

2”
50 mm

1-
9/

16
”

40
 m

m

3-
15

/
16

”
10

0 
m

m

7 
-7

/
8”

20
0 

m
m

3-
15

/
16

”
10

0 
m

m

7-
7/

8”
20

0 
m

m

3-
15

/
16

”
10

0 
m

m
3-

15
/

16
”

10
0 

m
m

6x Ø7/16"
6x Ø11 mm

Ø POST Ø GATE FRAME

CLB-MAMMOTH

LAYOUT & SIZES

ALIGN BRACKETS DRILL HOLES  
FOR BRACKETS

BRACKETS

M
A

M
M

O
TH

D
IN

O

GATE FRAME

POST

PRODUCT

DRILL JIG

1

2 3

1

2

3 5

4

2”
50 mm

2”
50 mm

min. 1-1/8” - max. 1-15/16”
   min. 30 mm - max. 50 mm

m
in

. 2
-3

/
8”

m
in

. 6
0 

m
m

4x

6x

HEX
5 mm

Ø3/16”
Ø5 mm

www.locinoxusa.com

877- LOCINOX

help@locinoxusa.com

www.locinoxusa.com/clb-mammoth

LOCINOX USA

GATE 
FRAME

POST

PRODUCT

 Ø POST  

min. max.

Ø1-7/8”
Ø45 mm

Ø2-3/8”
Ø64 mm M8 x 45 mm

Ø2-7/8”
Ø68 mm

Ø3”
Ø86 mm M8 x 70 mm

Ø4”
Ø95 mm - Ø113 mm M8 x 100 mm

3

4

5

 Ø GATE FRAME  

min. max.

Ø1-3/8”
Ø33 mm

Ø1-5/8”
Ø44 mm M8 x 30 mm

Ø 1-7/8”
Ø45 mm - Ø58 mm M8 x 45 mm

1

2

M8 x 22 mm



2024-10-30 - rev 11

D o c .  N r. :  P 0 0 0 0 3 9 4 5

54

6 7

± 15°

MAMMOTH
DINO DINO

MAMMOTH

MAMMOTH
DINO DINO

MAMMOTH

7

7

7

7

HEX
5 mm

HEX
5 mm

Ø7/16”
Ø11mm

HEX
5 mm

POST

PRODUCT

GATE 
FRAME

DRILL HOLES  
FOR BRACKETS

ATTACH BRACKETS TO FRAMES

REMOVE EXISTING HINGE/CLOSER BOLTS INSTALL HINGE/CLOSER ON BRACKETS

Loc inox NV • Brabants t raat  107 • 8790 Waregem • Belg ium
Locinox CEE• Ir ysowa 9 • 55-040 Bie lany Wrocławskie  • Poland
Locinox LLC • 460 Windy Poin t  Dr ive  • Glendale  Heights  -  I L  60139 • USA

pictures@locinox.com

SUCCESSFUL  
INSTALLATION?

Please send us your  
pictures & videos

SUCCESVOLLE 
INSTALLATIE?

Stuur gerust uw foto's  
& video's door

INSTALLATION  
RÉUSSIE?

Veuillez nous envoyer  
vos photos & vidéos

ERFOLGREICHE  
INSTALLATION?

Bitte senden Sie uns  
Ihre Bilder & Videos

INSTALACION  
EXITOSA?

Por favor envíenos  
sus fotos y videos

UDANA  
INSTALACJA?

Prześlij nam swoje  
zdjęcia i filmy

УСПЕШНАЯ  
УСТАНОВКА?

Пожалуйста, отправьте нам 
свой фотографии и видео

P00003945


